Name: Mental Arithmetic: 20 mins (Time taken: ) Score: __ out of 27
4909m + 100m = £78.30 + £50 =
— 5 ]

7.15-3.08 = 65.9 + 300.9 =

5L = ml
183mm + 638mm = 701 -4.56 =

4 x = 36

33kg x 6 = 55x 5 = 84x2=
2 of 242 = "2 of £250 = 5 0f120 =

6




824 + 4= 575m + 5= 180 +3 =

£4882 — £165 = 27L + 10L + 14L = 2x5x8=
556cm + 23.7cm = 183 +7+8 = 8291 -2.79 =
22 x 8= 256+ 6 +21 = 65mm + 985mm =

If you managed to complete this in less than 15 minutes, why don’t you try one of the challenges on the
following website. Bring it in on a piece of paper and show us what you managed to do. Good luck!

https://nrich.maths.org/8495




